Spring 2010
Assignment # 1                                                                    

        Total Marks: 15
Due Date: April 27, 2010
Objectives:
To asses students’ understanding of the subject and to motivate them in conceptual knowledge and practical application of the subject.

Instructions

1. Late assignments will not be accepted.

2. If the file is corrupt or problematic, it will be marked zero.
3. Plagiarism will never be tolerated. Plagiarism occurs when a student uses work done by someone else as if it was his or her own; however, taking the ideas from different sources and to express it in your own words will be encouraged.
4. If any assignment is found copied work, no marks will be awarded and the case may be referred to the head of the department for disciplinary action.
5. No assignment will be accepted via e-mail. 

6. The file should be in Word doc form; the font color should be preferably black and font size can be 12 Times New Roman.
Question No.1                                                                                                           (5)
What is grapevine communication? Why does it develop? Describe its advantages and disadvantages.
Answer

Grapevine is an informal transmission of information i.e. gossips or rumors from person to person. It is the informal information network within every organization. On-line chatting and speaking with friends are also examples of informal communication in an organization. It can contain short version of words and slang.

Why does it develop?
Grapevine develops due to various reasons. Firstly, it is a human need to interact with other fellows; express in a more comfortable environment and in a relaxed way because it helps employees make sense of the world around them and consequently provides a release from emotional stress as all informal information is undocumented.

Secondly, all organizations make policies, announce incentives, take disciplinary actions; therefore, employees feel need to express their opinions with other members. 
Advantages of Grapevine Communication
Organizational grapevine is a healthy activity to communicate: in fact, if employees are disinterested in their work and they do not engage in mutual conversation, they are probably in a fix as the grapevine is a good indicator of confidence, health and productivity. 
It is a significant force within the work group, helping to build teamwork, motivate employees. It does not necessarily follow the formal structure of the organization. It can be more direct and faster as compared to the formal channels of information since the information is not monitored. It also helps employees to have information before hand and a sense of identity. Bosses who ignore grapevine are less informed. 

Disadvantages of Grapevine Communication
· Ignoring the grapevine or try to finish it, will inevitably lead to: low morale, lower productivity, misinformation and misunderstanding.

· If the management is not well informed about the organization, it will lead to rifts and unions in organizations.

· False rumors are the main source of informal communication which spread from person to person.

Question No.2                                                                                                            (5)


Discuss the main idea of rhetorical theory of communication. Why is it more important than two other theories of communication?

Answer:

Rhetorical Theory

. 

Communication is a very tricky concept as it is an umbrella term which includes both verbal and nonverbal aspects of language. We have three theories of communication in our course which talk about different dimensions of communication. Rhetorical theory provides more dimensions for the communication process to make it clear and understandable.

The main idea of rhetorical theory is that communication is not linear i.e. just sending the message accurately to the receiver and the process is complete; instead, it is circular. Communication travels from sender to the receiver and creates an impression on the receiver who responds positively or negatively. Again this response or feedback travels from the receiver to the sender and the sender has options to condition his message accordingly to make the response positive. This is not a mechanical or static process but a dynamic one in which the process of communication is constant and message is changing from time to time according to the received feedback from the receivers. Therefore, in the element of feedback, we have to consider human side as well for effective communication. In the other two theories, the sender is busy with the accuracy or social side of communication and the aspect of feedback is ignored which is the main task of an effective communicator. These are the reasons that this theory is more popular than the two other theories in this course.
Question No.3                                                                                                       
Make the following sentences precise. Probable answers will be acceptable.
1. For additional information, please do not hesitate to contact us at 555-0001.

2. Please find enclosed a copy of the required document.

3. Owing to the fact that heavy rain was forecasted for June 13, the picnic was rescheduled for June 20. 

4. He is a man who is admired.

5. Ventura County is located in California.
Answers

1. For additional information, please call us at 555-0001.

2. A copy of required document is enclosed.

3. Because heavy rain was forecasted for June 13, the picnic was rescheduled for June 20. 
4. He is admired.

5. Ventura County is in California.
